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[NSC108] A nucleotide base not found in RNA is
Thymine

[NSC108] Which of the following is not an example of RNA
mtRNA

[NSC108] Which of the following nucleotide base is not found in DNA
Uracil

[NSC108] The addition and/or removal groups to incorporate double bond is 
charateristic of which of the following class of enzymes
Lyases

[NSC108] The process of converting DNA to RNA is known as
Transcription

[NSC108] Nucleotide base predominately found in RNA is
Uracil

[NSC108] Which of the following is not true about RNA
they have a very long life span

[NSC108] All the following are nucleotide of physilogical important not found in genetic 
material  except
Uracil

[NSC108] Which of the following is incorrect about enzyme activity
They alter the Ã¢Ë†â€ G of a reaction

[NSC108] The bond between two nucleotide molecule stabilizing them is
Hydrogen bond
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